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Note . Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer book.
Cutting or filling two or more circles will result in zero mark in that question.

Father of classical sociclogy : :6@F¢EV£ %111
KariMarx o AJE (B) imam Ghazali "SIl (A)
Ibne khaldoon U9cr (D) Max Weber ,_r--z..fg‘ (C)
Scciologists are serving in health department as DUt e e ra b IS /':in_,tq‘::;'.ﬁd:a.:‘.f 2
Social Medical Officer /Eﬂ,ﬁ.@_fu.r {B) Medical Officer ’,r.":’ Tﬂj,f (A)
Development Officer A TJ.L:'"? (D) Doctor i@
Minimum number of individuals require for social interaction - : .'Ld;:ﬂt‘ﬁbﬁf)ig r‘:iﬁff JF :5 o 3
Five é,l._ (D) Four z& (C) One <& (B} Twouss (A}
Who gave the concept of secondary group : ] y’@LQ{rjﬁsjdﬁb 4
Spencer ~% (D) Comete 2 (C) Durkheim E;i};i (B), " Mechiver £~ (A)
Which group has written duties : Bl AP | 5
Secondary group n/f:j':il'.‘ (B) Primary group e:f.'j[.i':‘ (A)
Informal group w‘:@:,; [{a)] Formal group au{j'; (€
gets g
When an individual /  position in society, it is called his : : fl—._'rlkf KJI:;@. I;'.J}'_,Pb,fi.';‘z_,’::_ }Lw}'df._.-a 5]

=

Status = (D) Stfatification Y520 (C)  Interaction JB (B)  Group e/ (A)

Which is ascribed status : 5 by St it e 7

Caste i (D) Teacher »&1 (C) Engineer ;.ff' (B} Doctor _""'5 {A)

Important norms fensccial pfatection : DU Al o B S 8

None of these u.‘.@sfa.uﬂul (D) Laws Ol (C) Mores lx7is> (B} Folkways =z. 7 (A)

Negative sanctions : O 9

Punishment I~ (D) Medal 3¢ (C) Certificate .:._1‘? (B) Prize -~ (A)

Formal positive sanctions : PeP s 10

Medal .+¢ (D) Criticism # (C) Fine 242 (B) Punishment t (A)
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4 E m;/{p ﬁ ' 83
\golation of laws s called - e QWSS 1
None of these & /e 2l (D) Crime (2 (C) Evil dz (B) sin st (A)
Implementation of social norms is called : 1 bt b e &;lr 12
sinst” (D)  Crime (% (C)  Social control J:,a.j/'-"b‘ (B) Soccial deviance J!,?;l&/*bw {A)
Values are : i_.f."l.:” 13
Standard of disliking .n;vﬁ:j'z: (B)  Standard of liking J_Lmoaf.:_'.il..;’l (A)
None of these (bl L2e! (D)  Standard of iiking and disliking J'I:vé:JLe:J:TJl{f (C)
Who said, Man is a social animal - : .:;,ubf&}blduw’i_ S| 14
Spencer ~% (D) Comete 25 (C)  Kar Marx il (B)  Aristotle 21 (A)
Which is material culiure : ; ga;,fu:‘f:.iLi‘-uL 15
Jewellery =Lys (D) Traditions %7 (C)  Vaiues 43! (B) Beliefs 4 (A)
Who said, sociology is science af social institutions il J( < U""rL-rJ g;,r:!ﬁ lf'bw..-:.flf 16
Max Weber ,;*..;U'E' (D) Comete &5 (C) Spencer 2% (B)  Durkheim .f?i.;xi (A)
From which institution, man starts his 1life! : :_‘-Jra'a-'-ﬂJ'u{WJJﬂbr-',:’ 17
Famiy 26 (D) Educational (& (C)  Poltical 51 (B) &N ®So- (A
In Pakistari society, which class number of peopie are less - ] ;:_.}:QEJJM'.?;W{-C; ;'Lvdl:fk 18
Allof tese 2. (D) Upperclass 2+(¥1 (C)  Middle class 35« (B} » Lower class b/ (A)
Socia robility in which status of individual does not change . :...!:.-J/Vﬁ .,-lz‘;.gftg}./;;;f/“’ﬁl 19
Sownward Js7 (D)  Upward (9 (C)  HonRulmN(B)  Geographical (& (A)
Major caJse of development in society : i ,.?de:r-_u_/J J;Lﬁz_ A 20 .

Education (‘:"J (D) Cullure =38 (C) Buildings (L\F (B) Gardens =kl (A)
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"~ 18 4. Write short answers to any Nine { 9 ) questions :

(i} Define acsulturation.

(i} Define invention,

(iif) Wwrite two demerits of ethnocentrism.

(iv} Define religious institution,
(v} Define matrilocal family.
(vi) Define economic institution.

{vii) Define informal education.

(vii} Write two name of political institutions.

(ix} Define social class.

(x) Write two features of caste.

(xi) Define geographical mobility.

(xii) Write two sociai changes in Pakistani society.

(xiii) Write two hurdles in social change.
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0 5 Sccology is a science. Explain with arguments

10 8 ODefine status Also explain its different types.

SEE U et

“ZE s )
Ew e (i)

S el s i)
-2 Al (v)
..g...yfgfum.}f‘:; (v)
“ZE Ao (vi)
“EASERA il
Ll UsiS L (vi)
FEo e (i
& fe e
YA

- Ef_f; ;u{ 96 :@

()
( Part-11 paddeas )

10 7 Expiain the steps to attain social control

10 8 Write difference between modern and

10 8. Describe cultural change. Aiors
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